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’@ The largest value of the nun:ue_n.am-e urteger a for which Hu‘l Tl |

Let m and 11 be o positive integers greater than 1. If

ey o
)6

m
then the value of — is .
Sl

be a continnons odd function, which vanishes exactly at one point and £ (1) = % Suppose

Lell’:i.—rl.‘{
i Flzr 1

Finar forallx & [-1. 2) and Gix) = jr|f[f1.rl'||m for all x & [-1. 2). If Jion—— =
—=Gilal 14

that Fii) = I
5 1
A
then il valne of f| = | is
Eix
Q:B Let £10. ) - R be a differentiable faetion such st £'(x)= 2 ‘:J for all X £ (0. ) and 1) » 1.

Then
i €| B lmg-xfli—l-z
& %) & z
(D) |rix)[< 2 forallx &0, 2)

Sol (A)
17 siniBx
,__E-l. Theun 6{c = f) cq@;@

¢ Let . B = B be such that lin
@ E=l 0K —SIX
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a"(x+n) e
@ Lﬁf{ﬂ'-'_l‘{l; [: 2][: w [1
|. n!x +n" )| % +_-t-]'" x +_.2-]
@ A r[%]ar(n

f'(2)<0

(B, C)
Let £:R—=(0.00) and g:R—+R be

©

functions on R. Suppose F(2) = 8(2)= 0. F'(2

) Fhasa local minimum at x =2
(cy rg2=f

(A. D)

Let f: R — R be a differentiable funetion such that (0]

S,

a2

twice differentiable fanctions sich that ' and g"

=0,

w13 ()
f'[.i} f'(Z]
® 15710

ire continog

£(x)2(%) _, men

) womagE) 0.1 InZ LT

Teh fhasa Jocal maximmn At X =2
B;x}-f"(x)=0 for at leastone X R

f[l;-]=3audf‘('0)=l.[f

glx)= j' [f (theosect — cott cosect f(t)]dt

E

forx e [0%] then I]iﬂ‘g{x]-m L

2
Let fExI:-l._x—h:h—Fr-lims[—l-] for x # 1. Then
[1-x 1-x) )
lim fix)=0 [B] L
gl
(€] lim £ (x)=0 Vm(?
AD

For each positive infeger n. let
i %{[m a+2).(a+n)".

For x € R. let [x] be the greatest integer less than or equal o X.

._f{x]' does not exist

lim f{x} does not exist
p=sl”

JfEﬁJ::_y_zL.ﬂrenU:em]mof[L]is



For any positive infeger 1. define f, : (0. =) — Ras

2 1
xy=> 1 N -all: 0. =
@ falx) j=11a0 [H(“j){_”j_”] for allx & (0. %)

| A
v | =

[
| Hete. the inverse trigonometric function jan "% assumes values m| -
i Ay

Then. which of the following statement(s) is {are) TRUE ?
Tt (/5(0))=59

® S 10,1+ 75 (0))sec” (S (0))=10
¢§I-)—F0r any fixed positive integer 1. ,}l—l.l:c tan( f, (%)= J—l;-

) For any fixed positive integer #, Bli sec” (folx)) =1

D

Leif: (0.%) =R be a twice differentiable function such that
@ : M:ﬁnz.cfurnuxetﬁ.n}

li
1=z f=x

(21__ & nen which of the following satement(s) is (are) TRUE ?

Iff:l'g_'lﬂ Th
-x fmsll.xe[{:l-ﬂ}

(), X Vm@ﬂ?
e AT N g
/ ot raf )

T

{ There exists ¢ e (0.

B.C.D



For non-negative mtegers n. let
k+2 ]

W [k+| } ; [
‘.@ Zsm 27 g lsin) ——F
ﬂui:M__ll_ﬂ__._ui—
= T 1[k+l ]
Ysin'| —7
=l n+l
Assuming cos'x takes values in [0, ], which of the following optians is/are correct?

~//f(4‘1 = g ‘/E/ If & = tan(cos ' f{6)). then @' +2e-1=0
5/ sin(7 cos (5))=0 D. Hf(n] =21

A,B.C

Forae Elal>1.1et

@ lim 1442 +..4 I 5
- nm[ 1 1 1 ]

(an+1) +[au +2f +m+faﬂ+n]2

Then the possible value(s) of a isfare
) B.
c i ‘)}/j
A,D
Letf: & — R be afunction. We say that f has

' o fl)=tlo) o
@ PROPERTY Lif ﬂ——ﬁh-l-— exists and is finite, and
PROFERTY 2if H%f-{u—} exists and if finite.
Then which of the following opticns is/are correct?
., f{x) = sinx has PROPERTY 2

A, _f{x) = x|x| has PROPERTY 1 B
" f{x) = [x] has FROPERTY 1 \,,a/ fx) = " has PROPERTY 1

c,D
Let & denote the base of itve nanural logarithm. The value of e renl number a for which the right hand limdt

e i
@ B M-x)" -@
P :i

is equal to @ nARTETD real oumber, is



f
7
@:l the fanctions Ti-1. 1) =+ R
= el and @ i=peT) = i-
fixy= % - 1] = 25 + ’lﬂﬂldp[nﬂ rabl) (=1, 1) be defuved by

where [x] denoies th

fimction defined Iwm:\in:.::“\i:d y fess than o equal 1o % Let fom (-1 L) = B e the composite

1 NOT g g 5 :M:II' suppose ¢ is the number of points in e arerval (—1.1) at which fos
. o i the number of points in the wterval (=1 11 an which fog is NOT

differenniable. Then the yalue of ¢ + dis
4
The valve of the limit

@ lim -lJ_u'nS:-sm:} ®
| 2!|n2x!ln3?x-m95!| [-Jr_ J'r,mzmm

15

8
eper n. let Sy 1 (0. %] =+ R e defined by

@ For any positive inkeg
s A Mekik = A1
S,.H.I—E._‘ ._—-—'—'_'
[ @ statemeats

where for any % & R cor'fx) € (0. @) and tanix) e1‘ % Then which of fhe following

‘9 istare} FRUE?
sml::l:—-mn [1'"’(2 Ill.fm'allsbﬂ Jﬁﬂ'rm:utis,,lﬂ]ﬂ.fwaﬂxw
10x | nm

[ix)] tnn[s,(xl}s%.[orﬂ'lnzlmdn-ﬂ

x
=
i

{C) The equation 53[xl—-—lusamo(m[u =)

fithdt = 0. Then which of Th2

euch that ipi=1 and

= |
Let f:l—%_-'zil—v

o ] 4

R be a continuous finpietion

{are) TRUE?

following rements is
1 equation. fixy =3 008 IX= 0 has ar least one solution i I.D‘ = |
ig

= —E !ma.[M'.'astmlesnlmrmum1 3

Bl

@-—'B ee@mriwﬁ:x}—.!sinax
L/ Lok mxjflﬂd.t
m =1 o |.||_'rlm._-—5'—1,-—'—'
x=0 1-!’: G X

ABC



Al

" -1 i
1+3mz @ (bim tan 1—1 where a eR E .
—_— . (3%
@HT‘ 1-lees™s gy mumaumms ._n('“" r'.}
e -?sk‘?‘l:.m\‘h\
demdmmmmmwmuumdum
@ W-E-:T.% £ — ( and whose commeon ratio is the Emit of the finction
{},

1-4x S= lh

= o) as x — 1 (Use of series expansion or L Hospital's rule is mot allowed )

I.:'ll.ir|_ "_:_ ﬂ_ X !i I‘ ﬂﬂlu) Ial}{!l-"'l-h! HEL_M%
@ '\:LS:!- 2l e mzm‘ 24 ()t - 4307 s -0 ld
La f(x)=

_i . x>0 ad  g(x)=x 43 z«<l
X

@ =l-x, x50 =x?-2x-2, 1gx<2

=x=5 22

find LHL and RHL of g(f(x) ) atx = 0 and hence find Lim g(£(x))
. @Lﬂ,=ﬁ*-l.vn=2.a _andLetP, =a*- IM:ER‘MML-. Q.mf\
\ Lim (h‘+2:*)g‘11}+|;r"+5 o
A T

B f(x)=Mmocosec (xm) O<x<l and ;(;):E::;ﬂ then
@ =hsn(2xx) l<x<dil kel S|
find tan~! (g(17)) and sec ((17)).

m&ﬂd-ponndhnﬁcﬁ:&thmﬂm Enes are drawn, and the points Aand B
nmm:mmtmw&&-mdﬁzmmmwmmmm




¢ Llm -l : A
@ Letfixy= 20 (- cosA-&D o gog Lim g and Lim g5y, where {x} denotes the fractional

2} (- ) v ~
part function. — TR
AL L4
: Lim 2¢" —bcosx+ce™
@Fmdﬂ:cwhesofa,b&csothat oy T =2 Q\.:_’Q,:_\ T,
. 1 a’+x? . (am) . {mx
@ty 22 - 22(2)ol3)) ermtin
[ W
i e:p{xln(l +;’f:)]-exp{xln(l+b}r}ﬂ . \% &

» i
i [ B
| ‘

@ If s, be the sum of n terms of the series, sinx + sin 2x + sin3x +.... + sin nx then show that

Vi NSt e is b cot> x22kn kel
T=o n 2 2

1 . (ﬂ(l"x.)l" 1 5] 3 3 3 2
m o 7 - -1 3-14-1 n -1 -
g—yo[ x* X Lct Pr"i—;:.?'r:"i.—g— ....... —,—.E‘V‘ahlate Lm Pn s

441 n +1 % — 9;
=

tiuﬂt'cufﬂhliﬁlenﬁmﬂuhd':m.0<l<§asm|ﬂ n

the figure. The point C is the intersection of the two tangent knes at A & B. Let /R
:':(xlbc the area of tiangle ABC & let S(x) be the area of the shaded region. fft‘ T
ompute ;

(a) T(x) (b) 5(x) & (e)huurll‘;sx-so 5 o
: K
@ 5= T A N me[ Sk ‘_”E]: 1.

a 8 Lim 2(@0x -sing)-x'
‘fﬂ“-")“'_] l‘mzz—T] .then compute Lim f(n,8) **°  x '—""q
Sl

@ E“"lﬁﬂpoiIAunauide.achwdﬂhm&mmgmuﬁ.lpoitTistdnmmhM

=AP. If TP produced meet the diameter through A at Q limiting
7 , prove that the value of AQ when P
moves upto A is double the Bameter of the circle. R

@Mﬂ&hf: 0] i'_-';f,, [i—-ﬁ—u-b] =0 (i) E’fw[-.ﬁ’—:ml—n—h] =0

E 2 =) e e
];‘.Eﬂ!lﬁﬁﬂ:os x) &= e Gz ,"0*—3;\_
A)-n Ay ©3 o1

tanz _ smx
Evahate Lim ~——2% a0, —%*sx._

=0 tan X —sin X
(cosx —1)cosx —e") |

Tl‘lth!gu’nfurﬂich[.:l.lﬂ—n finite non-zero mumber is
= x
[CVR! ®)2 \;LZ: )4

I Lig S2XARN@-0)nx 0] 5 ) then the value of 'a' is equal to
=4 b

X
@ ® 1 _\y’ﬁ :] (D) Noae
n

(SY) Fid the vae of ,“l';;[%"*”“‘_‘[nl]"]' e

N




If o, P are the roots : :
@ of the quadratic equation ax® + bx +c=0 then Lm Lf_ﬂ'ﬁ_::t:-c—lgqﬂ;
] (m -l

A0 1 : }
®) 5 (a-pY ‘,LE"'{'@L-B)‘ D) - - @-py
ABCis ami I o
s o .
anisosceles triangle inscribed ina circle of radius 1 IfAB =AC & his the ahitude from A 1o BC

and P be the pers o
the perimeter of ABC then Lim? = ecquals (where 4 is the aren of the triangle)

h=+11
|
ik ® 64r "((‘(m r {Fh
: Q) fi denotes the greatest teger <, then LT3 % ‘[li‘l‘lf"! 4= ' x]) equas
(A) =12 ®) x3 (C) w6 xd

h=|xP
Which of these functions are differentiable atx =07
(A) fand g only (B) fand h only (C) g and 7 only (D) none

@Lim‘t _r_ﬂ__-} where [] denotes greatest integer function . i
. ‘II] i i
=2 cos H(}mz-sm?f:}
2 4 ;
j"/' v@( ©5 i

z in x)° i
mmmd&:ﬁmnﬁﬂ=wm“"“
|=sin Ix 1
3

) ® % © 3 &



Pa243 yn? is equal to :

‘/‘Aﬁ 2 1
3 ® 3 ©3 o)

Lim Pot 2 0-1043%0-23+._407)

-1 B

ot 1
For the function i [
@ - foyw Lim T s () » "hich of the folowing hokds?

(A) The range of fis a singleton set
& discontimuons for all x & [

(B) {is continuous on R
(D) fis discontinuous for some x € R

© 47 -7
(C) w2 (D) non existent
Let fx) = e B te) If Limit fx) =/ and Limit ) =m then:
@ -"n(: +e™=) " i=-m
-.:u,_\.,- (B} f=2m (C) 2i=m M) f+m=0

@Ecu m.l'n3+n} when nis an integer -
{A) is equal to 1 (B) is equal to — 1 ._;caﬁu‘dmm (D) does not exist

(sin x —m:)’-(l—mh)‘+x’

@Lﬂ 7(a0T2) (i Txf +3sm 7z Semt
‘ 1 o1
(A) 0 B3 3

m{{rl—i]' S0 (3} here (x) denotes the ractionsl par function

Tw vahe of {x} ({x}-1) :
2 o (C) is sin
) is1 e

s non existent



mwﬁ o lcos mf== s
VO

! gty

| B el
®)+ /‘4 4 (M)« =

2143 .
oy Stixtmls
=r (x+sm et ©

(A)equiltozero  (B) equalto ] (C) equalto -1 ﬁé’“"’“‘
';"_—[{;%I for x>0
@Ld fo= | for x=0 where [x] &« the step up fimctionand {31 s the fracion

LJ{x} ot (x] for x<0

plﬂfmclioﬁnfx, then

By e =] o B re =1
y/:::ﬂ \ Limit fm. =1 (D) f is contionous at 5= 1

o sm%ﬁx
=0 (ncos(2x* -
(A) 12 \/tsn/rn () 6 () -6

r
|

el

2

s

@ Jm | —oox 15 - (wnere L] represents greatest nteger function.

(A)- 1 (810 Ae9-2 (D) does not exist

Ju? =2 . w22 2% . %21
Evaluate Jﬂ [ 2x|+[2_3:|4- - 2l0 in+1x where [ - | denoles the graatest integer funchion 'v\al?

J' -1, =zl wet, x>0
W s iad-z, xet 9= |41, x50 and  hid= M

V)o then find T faihi=i
YR 0 (C) -1 (D) does nol exsls



&

® =T 1)
Way”
(8>
). whare [x] denatas. the greates] inleger lass than or equal o x 15

{A) @ 1
i N D)- o2
Nunmpb.m :
D st i, ot

(A8 a-p
®hlate-p) £ esap o g

® -]
B | s twhere ] represants graatest integeal part functin)

(B4 -1
\.-'% ®)1 @0

(D) doas i
@ i 100, o 8iNX el ) dose nat exist
1
® o ©)4 m}l
'{_nu- (sin %+ +1—gin Ti *
@ :;'??mm Vx) andm= M (g S —ﬂlﬁ]pﬂ“”m’mwmmw
lm-.u
fclr.mhwmomm-m 1£= 0 mis undefined

01 =0, m = 0 (athough m exist

LA e

@‘ The hmit ,,ﬁ_"'“n ({ns:’:a] +[HMG}J where Nw/qmlgs!imgu function and n & N, is
2n-1

{A) 2n By2n+1 (D) does nat exist

1- tnsu»;"_ush

@The bt Iy - equal 1o o
) 172 B)-112 \}2'1/3&" w

(1 1 1 o

A1 (By 1/2 (c)0

~\> The viliua °|Lm1ll cos {5|n|l} bl is equal to
(o) 12

(A) 15 \9}{1:& (C)in

e“r{z*' ];IT* _[3.:*];‘;

@ - ¢ ] ME N IS equal o
x []
) & 3) (C) In{(3/2) (D) none

(LY

1| ZkJ-'.al Zkl -sl[nzlk\[ ..... +{2n-1) 1i 3 %

k=i

@ Show that 2 i )
a. A’.. = wen o fiwh

= ] & R Prove that
Let fix) =Limi 'Lunudcns"'\ *}J‘ whare %

@‘ £ if x is rational

fx)= ta i x s wational -

g e o

N N

il | Ll
E\I#ude L' ‘
' .
where [ ] dendlailha greatest integer funclion




; " [CF -y Y
| @Cﬁmlﬂelmtm“".]:m {m,i.l.l and gix) = - x*® where b= M tm e
Then

Tix) 15

-a? i W
(A) e s M i©) & D) eT
is
\‘%:{l’ B) »

©)w (D) -x'
\}u’?;d Sokilions of fix) + iy = g is
2 (B)4

o (D)1
FOF:{} 0, m (Ell'l XJM' + (”x}"“is

Ao (B)~1 M(t‘r/}‘ 1 D)2

» ol il L 1Y | -
| [1—tan£}l1-sinx',l
G Limit 2 is :
& X 2/2 X i
{1+tan§ (r—2xp
(A) 1/16 {B) - 1116 vge*fusz (D) - w32

Lim log” - x]

a T n & N, ([x] denates greatest integer less thaen or equal to x).
M;}/éj valie —1  (B) has vale p (C) has value 1

(D) does not exists



[:r]2 +sin [x]
f@x) = [x] focf#10

@ ; .0 for[x]=0
where [x] denotes the greatest integer Jess than or equal to
x, then lim, _, , f(x) equals

I(ﬂJ'l o Aot 1 ugb'] 0
¢ -1 11[51 fix) =

Ans. (d)‘ 3

=]
@ e a[ﬂ +x::2
ipa al“ -x 4

o g »
Z(ax)m ] _Jae
374

g 2 +al? 4

L

8

IS ; - 4
@4 = ) a
i, _ (d) nmone of these

‘12

Ans. (c).

- x® ginx

Let
@ : W—ZT_—__'

oy 14 x
Then
(a) f is continuous at x = |

(l;a lim f(x) # htn f(x)

x—=1+

. () lim f(x) = sin 1

x— 14

(d) xliﬂl- f(x) doesn’t exist

Ans. (b)

The value of li 2 x
NN Pﬂmfcﬂﬁ;---cnszinis

[.} 1 inx

o

j 5 A (d) none of these



If “_TP (f(x) g (x)) exists for any functions f
! X=%a
and g then

(@) lim f(x) and lim g(x) exist
¥=a X—a

(®) lim f(x) exist but lim g(x) may not exist
X=%a X—+a

(©) ﬁ“!' f(x) mayn't exist but lim g(x) exist
x x=ba

lim f(x) and lim g(x) may not exist

i=a I—a
Ans. (d)
N

=0
integer function) is
(a)-a nonzero real number
) - rational number
an integer \Ld'( Zero

Ans. (b), (c) and (d)

The lim x* {Ls] (where [x] is greatest
x

@ tan x tan(x +h) tan(x +2h)
A(x) = | tan(x + 2h) tan x tan(x + h)
tan(x +h) tan(x+2h) tan x

. A(r/3)
Find the value of ],;132'1) 2 W,,’E\,l’l

't %



& (8) f(x) = x ggn (x = 1)

§ I 2 2
&5 Fy ain(sm(tnn{x / JJ]

logcos 3x

vlf+tan“] 3x -
© flx) = :i}'l-sin']Sx

 lesinT 25 -
'v'1+tan'12x_“ .

y Vx &

@ f@ ==L,

e +1 .l

\\3O Statement-1 1f g and » are positive and [x] denotes the
greatest integer < x, then lim i[ﬁ’_] = -'?-

=0+ gl x a
;]i.nf. i:':—] =0, where {x} denotes fractional
of x.
Ans. (a)



2
a=-yNa —x —

0
| & LetL= lim ; i
x=0 X
If L is finite, then pt
ﬁ‘% a=2 U
: 1
\S’Z{L e @ 32
64
“\ Evaluste lim b >L7\
& feos" o
sin 1 J;' m'-l: '}"
Sanl o a
e —sinftan_ (@Y

(@ Evaluate hm sinx — x* -[x] [—x]
O xcosx—x -{x}.{-x)

where {.} denotes the fractional part
R, Bl BT :‘h-— DNE-

.E\-’a.]uate 1111:1 +En(‘“+x “1] 'E'A(,

Find a polynamlal of the least

5

such that E‘g[“ -4 :?”J =gl FAN S P -3("4;':@,_

2 .
@valuate lim lim 20X+ X +1)" sinx

v\ ol G o




1]x}
Evaluate lim ML
x—=0

e
if it exist, where {x} denotes the fractional

2 Ysinw
a0 3
SE s>
(@) e M e @ ™
=3 " .-

c2"xh o
+ 5€
@ e WK e f-f’fhlﬁ“g{l +secx) (14 sec2x) (1 + seedx) o 5
lllTll:_l !"—2[:} is equal to ;
@ 0 ®) 2 g @ 2 o
1
The value of lim (1 4+ [x])"t@) jg .
@ Ml
4
(where [ .] denotes greatest integer function). 1
() 0 Vﬂﬂ/l (@ e (dy -

an' 4

4
@ The value of Iim[ n”' J“" ' neN fsequalto:
n-ww n
374
\}‘/[E] (b) eV CE (@ 0
¢

@ If flx) = 'I||:r: .I[;ilmsx]{ 2 s1-vni-ans 1]} where [y] denotes largest integer ¥,
ymlfy the correct statement(s),
i i 230
11“{-““ 0 {b) "III"I'Ijt fix) = 3
dp)/ PR | T n \/W\/{— x 3
fla) = zne[n,il _f(r)—ﬂ‘a':s(-é,-i}

.

The value of lim cos? (m(Yn? +n? +2n)) (wherene N):
L]

1
1 1 =
(a} 3 (®) : ,\/{g’ e @ 9

) Sm__u.z—l and
sinp

B3| =

If E,BE[—E.G] such thar (s'mu-tsinﬂ}-o’i_ﬁ-u and (sina +sinf
sinfl

) lim 12 2sina) ™

e (2sinf)* yn/
m ® al
a=-— A=2 P d) h=1
Vm/ 3 © a=-7 ¢



Let rtn—“’f 2|*ct ~60+9 | xe2
@ - v x22

. X t
J E'T,m"}] exists, the possible values a can take is/are (where | represents the greares

integer function)

@ 2 M s ML

; x+3 ; -2<x<0
@mﬂxhhi i x=0 , then

+5 ; 0O<x<l

lim f(Lx ~tan x1)is : (1] den sg‘ren:est mteger fuention)
{d) None of these
ta‘l 2
( % lim IL{ } is : ({} denotes fractional part nf ion)
: {-.]cl 4 - M 5 7 (d) None of these
a

el

i 1 then= =

OO SRPISY

Sl
1 =2, then

¢ im SO < g i gx) < Aand tim (1+ 2057 =2
r~0gin? ¥ r+02cosx-3e" +x? 2 x-2 a0l o“emwﬁ!m’lis
;Ifu.[jmtwodisrinctrealmotsufﬂnequuﬁonaﬁ+x—l—a#0.[‘“‘"]’0}'n

@“Ual to unity, then the value of lim a+a)x’ -x?-a, altka ) ging he value of H’@

x=llia) (% ~1)(x-1) a
T Find lim [M]where a is root of equation sin x + 1 = x (here [] represent grearest
Y EEr x-1 ;
integer and {} represent fractional part function) a y

f(x) = c08 2x - cos 4« - cos &x - cos 8x - cos 10, thenim =L oquals

v =0 Bgin” x
(a) 680 (b) 135 (c) 132 66
-1 - - =
o o

the value of n, is : L\f




st = v x> 0, then lim f(x) j5
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lin(' ff'_:ﬁljm £50
nm rir+
Gy Y N £=0
2irtsrsie®-1)
Ez rir+n "k

is differentisble in B (the set of all real numbers)

[Note : (y] and (y) denote greatest integer and fractional part function of y,)
'Ihenlunofp+q+liuqun1tw \/ﬁ/

) -2 ) 2 {e) 1 3
@ml"ll]ueaff ﬂn2)+f’[ 1)4_:"[ -_J+f( 5J+....w is equal to :
(a) 3 paﬂ/ (c) 6 2

et e (o
@) In2 (b) ~In2 M w1
2

,, The possible value(s) ok for which lim _____i—_(_tan__xa_ 1.
— =8
72 2% ot kg 1+ k228 sin 1_ -3ke? 2

Ry e
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[Note : (k) denotes the fractional part of k.]
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n—pe=
n=2

n~-

1+cn
— —Ifc'lu‘:Bwhmu.aud are the roots of the
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— ,x %0 is

q_Slrﬂ:z; = lim .
e continuous at x = 0, then find the value of (f(0) + 2A). '@
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Iim[min[ 4 sinx
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15 ‘)j//

6 n7 4) Does 0ot exist

Let [:R ce s
'\;&g f:R— R be a positive increasing function with lim f0r)_ | then lim )
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